ROMAN BLIND
SYSTEMS

%SilentGliss



GENERAL NOTES / —figsf/E=RFIR

Dimensions / ~TiE&HEICOWT

- $FRI(CTREN TV IHZEZIRE . /RSN TVBIEF (L mmBEIERDET,

- RK kgld. $ER(CBENZ 7YY - ((HB&R) ST Tr Vv IDEEERNET,
- 29994 X (Il HX) (& BEOBERBEED15~20%TY,

Fitting / SE&(CDOWT
- B 0IEEEZ BT A (L2 BEZHENDHLET .

- I3y MEOBELBUTIHIE/BEMRA > ME BUS I T, SAFAOEE, EMOEH, RO, BEYICLOTERDET . &
BRERZINTVSRIEAM THATY.

- FMEOVTE, FEUT I FHORRCBEUR S EZER I IHENDDFT .
- BEERmOAHRE BEARREUMAEAORECHETITRO TS,

Child Safety / FHOREICOWT
- Silent GlissEa(FRRINFRABDEN 13120(CFEHLTVET,

%SilentGliss 2



APPLICATION CHART

11

19

AT L

SG 2120

SG 2320

SG 2350

i{F

B b

P1X

%SilentGliss

4“— max.—

8 kg

2.5 kg

15 kg



%SilentGliss



PRODUCT INFORMATION / S5k

- BEAE  FI-BF

- BUFER ;. L(5->)

- EEEE XA FEE

-Hh3— 2=

- TP ALY NMURTFTUSI I3 30% SSHRIIZEN BBEIRNSD
SEEMESRFVLET .

Features / ¥§#4:

- FT7RS4T553 1 DIRAE

- J)-ZNITOE/I> M-I RT A

- ZAmOEECEIDTEEIADREN ] 58

5 %SilentGliss

06/2025/V1



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L=V o1&k

C. HOW TO
MEASURE /
BIESE

FITTING / SR E&5H

A. FITTING
INFORMATION /

= T

I3y NEDAIE

SG 2120

T
4 max.— max. k m?
: g.. X
4m 6m 5 kg 16 m2
15 7 6 3
T D
j v
SG 2211 SG 2004 SG 2111 SG 2135
~N)Lrab—=ib N NVAVASS RAIYIL Fr LIV RE=TF1AF =)L
Ovk g 3 mm
- A _ A: BiiE
‘ ‘ B: =
. C: #EFI—0ES
7
/ D: ©=J74U74F— SG 10731D&EFRNS150
[ | “ cm EDAIBEZHEE (Fr/ILRE-J71E#)
{7 c
1 ‘J
D
.y
%

SRR EBRICOVTE, HSHASBVEDECE
2L

100 max. 700

L] []
* HARTIE max. 500 mm £2DFE Y,

max. 700 100
.

%SilentGliss



B. CEILING
FITTING /
XHEE

T345yb - SG 3603

C. WALL FITTING /

IEEEEEYIE
A== T35k
- SG 3655,

SG 3660

AN—NI1YIR
(HENER)

min. 50

CIERRRICEDEER

]

CIEREECEDEIEM

CRRECZEN

CERIECIZEWN

SG 3655
A=) TS5y hO>d
50 mm

7

[

SG 3660
IAZN-H) TS5y hIFR
30> 65 mm

AX—hJ19IA SG 11200 - SG 11204 &

T3k SG 3603:

WMHEEBG NILMRS SG 10492 (M4x8)

%SilentGliss

Universal Bracket / 1=){-%IJI54vh X mm
SG 3655 58
SG 3660 73
Smart Fix / AX—bI4952 X mm
SG 11200/ SG 11210 80
SG 11201 /SG 11211 100
SG 11202 / SG 11212 120
SG 11203 /SG 11213 140
SG 11204 / SG 11214 170
SG 11156 212 - 240
SG 2120



SG 2120

7

X

;

AY)I7—-AI—-bIJ19IRX SG 11210 - SG 11214

&T5ovh SG 3603:

WHEERG NILMRS SG 10492 (M4x8)

7
I e—

X

IZ)N-BIAI—KIT1yIASG 11156 &

J34yb SG 3603:

BB NILMRS SG 10277 (M4x12)

~) ) PR
N ) \
<<
%{ 62
~y
SG 3603 SG 10277 SG 10492 SG 11200
XAFTSvh +FARRIVIRS M4x12 +F RNV RRS M4x8 AX—RT4wI 2ty 60 mm

~ PN P T
80 S 100 S S o
& / 120 150
A 4' \6AZ \/I \:2 </ \6A2 </ \6‘2
g J (3 J % N P N
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN—=NJ4wIZZyh 80 mm

AN—=RJ1wIXtyh 100

AN—=NIJ1wIRyh 120

AN—=NJ1wIXtzyh 150

607 80"\ S N
L2 > 00 X 1207 X
~16/ I M \16/ I % s \/ I %o \/ I !

o Ne<
SG 11210 SG 11211 5G 11212 SG 11213

ADIT AR —RI4wI Xty b
60 mm

ADIT AR —RI4wI X2y b
80 mm

150/\
/sl 200 \A
29 / \6v2
Ne< N
NS

SG 11214 SG 11156
ANITAR—RNTq4wh Ry 1IZN-HIVAX—RT4vIR
150 mm vk 200 mm

%SilentGliss

ADIFP AR —RI4wIX 2y b
100 mm

ADIT A —RIT1wI X2y b
120 mm



SYSTEM OPTIONS / AT AT 3>

A. FABRIC MAKE- 21T BIBRF 0> T AR S1—R294
—UP / V"% TSR A
—L (TL—>Z54) S =T 24— R91 ) A=
J7T0WHD Z94)  ZNITZR9A4). etc)

T EFSE

ML
9 ~& SilentGliss SG 2120



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7> 3> 8Ba

SG 2049 SG 2004 & SG 11200
FI-2R347 / BEAAR NV < AN—bIT1yIAZyh 60 mm
SG 2059 SG 2093 " SG 11201
tT-I749U97 / SvITRRby ) g AN=RI49I Xy 80 mm
N—

N
SG 2081 SG 2135 SG 11202

FAIPYTAT=I / A=LFTFR
PN

FrAIRE-TJFT(AF=)LOYE g
3 mm

L\

AN—NI4wH Xy 100 mm

SG 2111 SG 2136 . SG 11203

NAIVYIN Fr/ ) RE—JF40OYRT—T % AN—=RIJ1vIAty s 120 mm

SG 2163 SG 2164 . SG 11204

-7 T / AN —RIJ4vI Aty 150 mm

SG 2179 SG 2539 SG 11210

I>RHN— F—7 ADITAX—RIJ4vIAtyh 60

mm

SG 2211 SG 3069 P SG 11211

AVIOL—I FrALRE—T51 FALYN /\ ZDTTFAR—RI4vIAEyk 80
$ I mm

SG 2865 SG 3164 2, SG 11212

E_FFI—>1%05- 0 4.6 m FrAlRe—T71 Jvotvh A DTF AR I19 DALy~ 100

(*A9)) < mm

SG 2872 SG 3165 = SG 11213

E—RF1—> 0 4.6 mm

FrAILRE-T71 74Lybhtyh

ADIT AN —NI4wIXyh 120
mm

SG 3055 SG 3603 5. SG11214
S0 RITIY ESTTE S 7SN / ZDTFAR—NI4yI Ak 150
< mm
SG 3340 SG 3660
F3avoIAk 1= X—LT STy R IFANSOS
4 65 mm
SG 3605 SG 10277
I2RAN— +F IR MRSD M4x12
SG 3655 SG 10492

2= —9)LTS4yhO>4 50 mn

+FRNILIRD M4X8

5G 10731

FrAIRE=D07¢ U1+ —tzvh

SG 11156

IAZN=HIAI =R I1vH 2ty bk
200 mm

SG 2120

%SilentGliss

10



PRODUCT INFORMATION / S5k

-BERE  F1-BRE

- BUYFEERE : S(RE-)~M(ZT4T L)

- FREEHE : KH. EmEEE

- h3— RIAb

- PTG YA NMYZRTFT I T332 = CEBIEEN, BEHENSD
SHREMEHZIFOLET,

Features / ¥§#4:

- FTRIAT 133 1 ORI

- AT2AUCTRT UL AZF = ILDE - RF - HFIF ] BE
- NYRL=)UES DT IRRyI Z B =R

- FI—JRERD)-ANTERAUVRE(CRBEMTZET
- =722 1-R)OBRNE BIATAFET

1 %SilentGliss

06/2025/V1



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L=V o1&k

C. HOW TO
MEASURE /
BIETSZE

SG 2320

. t 2
4 max.— — min. ¢ max. m
l ma
3m 30 cm 3m 9 m=2
kg
2.5 kg
42 _ 18 7 3
\ - i O
20
38 L
SG 2321 SG 8214 SG 2004 SG 2135
L= F1-J ¢ 18 mm NVAVASS FrA/IRE=TJ71XF=)l
OvR g 3 mm
B . A HEE
’- ’ B: ®RS
P C: BEFr—>nES
7
7 D: €—J574U54F— SG 10731 DEEFERN5150
[ | “ cm EOAIBZEE (Fr/ILRE-J71E#)
(7 C
L
D
3y
7

%SilentGliss

12



FITTING / s2EE6H

A. FITTING EHRARSREIBIRICOVTE, HHABRVWEDHELE
INFORMATION / &%
e FEEER

737‘3 bﬁo)mﬁ s, max. 900 .. max. 900 .. 50

—

[] []
* HARTIE max. 800 mm £R2DF T,

FITTING /
KHERE R

min. 53

CIERRRICAEDEEFRGREE

B. CEILING % //

J3vh SG 2616

~ p: %
SG 2616
J37yh
C. WALL FITTING / 7// Smart Fix / AX—RI1Y9Z X mm
TSRS SG 11200 / SG 11210 70 - 76
SG 11201 / SG 11211 90 - 96
AN— b?é‘y’JZ | SG 11202 / SG 11212 110 - 116
[ X
(FHENER) SG 11203/ SG 11213 130 - 136
AX—NI19IRX SG 11200 - SG 11204 & SG 11204 / SG 11214 160 - 166
JI3545vh SG 2616:
SG 11156 206 - 234

WHEEG NILMRTSG 10395 (M4x6)

N\

Z

A)I7—=AI—-bJ19IX SG 11210 - SG 11214
&T59vh SG 2616:
MHEERG NILMRS SG 10395 (M4x6)

ML
13 ~& SilentGliss SG 2320



T3k SG 2343

SG 2320

7
/ — 1

1Z)C-BIAI—KI4yIASG 11156 &

J3ovh SG 2616:

WHEERG NILMRS SG 10492 (M4x8)

L\ &N
S o SR
20 < N o \6'2
SG 2616 SG 10395 SG 10492 SG 11200
I35k +F ARV IS M4x6 +F ARV RRS M4x8 AI—RT4wHI Rty 60 mm

~ PN P P
80~ 1007~ 120 > >
& / 150
A Q/II \6AZ \/I \6‘2 </ \6A2 </ \6‘2
o J (3 J % J < J
16
SG 11201 SG 11202 SG 11203 SG 11204

AX—=KJ4wIZyh 80 mm

AN—=RJ1wI Xty 100

AX—=RJ1wHIxyh 120

AN—=RJ1wH Xty 150

{)\v <80 Y o B AR = B SNy

*16/ )5 \16/29 529 <29
o *16/{

SG 11210 SG 11211 SG 11212 SG 11213

ADIT AR —NI4wI Xy
60 mm

ADIT AN —I1wI Aty bk
80 mm

/'\

/\
/ \' 200 Y
29 / \6'2
% \Aﬂ
NS
SG 11214 SG 11156
ADIT AR —bNIJ4wI Xty IZN=HIZAI=RI1YIRX
150 mm vk 200 mm

7

A

%SilentGliss

ADIT AR —NI4wI Xy
100 mm

ADIT AN —I1wI Aty bk
120 mm



SG 2343
I=)=YILTS5v s 46 mn

SYSTEM OPTIONS / AT LATZ 3>

A. FABRIC MAKE- 21T BIBRF 0> T AR S1—R294
—UP / V"% TSR A
—L (TL—>Z54) S =T 24— 91 ) A—
J7TVWHD Z94)  ZNITYR9A4). etc)
T EFAE

B. WASHING AND 21— ROAUTSEEDSIT S

REPLACEMENT /
DU—_SJ LIS
z

ML
15 ~& SilentGliss SG 2320



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7>a> &b

3 mm

SG 2216 SG 2865 SG 2004
J-R @ 0.85 mm E—RFI—>IRV5— 0 4.6 m N VAVARS
(*A3)V)
SG 2221 SG 2872 SG 2093
~)voor—-7 ﬁ E—RFI-> 0 4.6 m U2
SG 2321 SG 3055 SG 2135
L=v TSvAETV) FrAIRE-JF74XAF=)ILOYR o

SG 2322 /’\ SG 3605 SG 2136
E> ﬁ IVRAN- FrARE-I740vRT—F
]
SG 2323 SG 8214 SG 2164
21l F1-7 0 18 mn I T-7
SG 2327 SG 10139 SG 2341
F1-I7979—- A +H5%3 2.9x6.5 FI-mhA—=)b
SG 2328 ST SG 10731 SG 2344
F1-I7979—- B ) @‘@/ FrRe-I7¢ UF4F—tzyh 2)-T M
>
SG 2333 SG 2539
FI—2mA=)L P 77
SG 2334 SG 2616
2U-7 P PEZED
SG 2335 SG 3069
RS4Tr -2 1:1 FrALRE—J71 PALyb
SG 2336 SG 3164
MR-k Fr AR E—=T74 Jvitzyb
SG 2337 SG 3165
I>RAN= FrAI =071 7ALyhyh
SG 2339 SG 3340
HIN— FY3IVIIA R
SG 2343 SG 4845

I=N=HYILTSovh 46 mn

SG 2320

%SilentGliss

AFNWE—RFI—> 0 4.5 mn

16



SG 10395
+FRRIVIRS M4x6

SG 10492
+FRRNILIRS M4X8

SG 10944
FRRIVNRD T52AF M4x8

SG 11156

IAZN=HIAX—RI1vI Xy b
200 mm

SG 11200
AN—=RI4wH Xty 60 mm

A\

SG 11201
AN—=RJ1wIXtzy~ 80 mm

SG 11202
AN—=RI4wH Xy 100 mm

SG 11203
AN—=NJ1wI Xy 120 mm

SG 11204
AN—=RI4wH Xy 150 mm

SG 11210

ADIT AN —RI1wIXyh 60
mm

SG 11211

AIITP AR —bT1vI Aty h 80
mm

SG 11212

ADIT AN —NI4wI Xy 100
mm

SG 11213

ADIT AN —RI4wI Aty h 120
mm

SG 11214

ADIT AN —RI4wIXyh 150
mm

3

%SilentGliss

SG 2320



ML
SG 2320 ~& SilentGliss



PRODUCT INFORMATION / S5k

- BIERE « SR

- BFEEHE - S (RE-I) -L(7—2)

- FREEHE : KH. EmEEE

- h3— 1 RIAb

- PTG YAL O NUZRTFT I I3 = TEBBIEEN BEHENSD
SHREMEHZIFOLET,

Features / ¥§#4:

- BERT-I-%EH

- 20—A My THBERE S,

- AT AL BB RIS

- NYRU=)UFS > TV BRI A B %5

- D=72(31-R)OBRBNE BIATAFET

19 %SilentGliss

06/2025/V1



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /

S AT L SR

B. PROFILE / L—JL

L=V o1&k

C. HOW TO

MEASURE /

RETTE

SG 2350

. 1 2
4 max.— — min. ¢ mix~ m
6m 60 cm 6m 36 m?2
k...
15 kg
65 50 7 3
N R ==y T 5
_T 20
69 L
SG 2351 SG 2352 SG 2004 SG 2135
L=u L= NVAVASS FrAIRE-TJF71AF=)
OvRk g 3 mm

ot &
0

o >

P
20 50

] &4‘

@

20

%SilentGliss



FITTING / sEECH

A, FITTING
INFORMATION /

HEHHEER

I35y NEDAIE

B. CEILING
FITTING /
KHEE

9235>7 SG 3003

734wk SG 2521

21

FEHRERERRICOOVTE. BSHASRVEDELE
(AN

100 max. 900 max. 900 100

[] []
* HARTIE max. 800 mm £R2DF T,

7,

min. 100 _

CIERRRICAEDEERRGREZE

66 r
@
O

SG 3003
9527

o

W

min. 80 o

CIEARB(CADEIEPRSGREZEL

e

A

SG 2521
KHAAT S0 b

%SilentGliss

SG 2350



C. WALL FITTING /

RS

AX—=NI(WIR
(7HEHER)

SG 2350

o X

V «

A\

AN—bhJ19IR SG 11200 - SG 11204 &

J3ovh SG 2521:

WHEERG NILMRS SG 10395 (M4x6)

N

N

J34wh SG 2521:

.

A)IT7—-AY—-bJ19IR SG 11210 - SG 11214 &

WHEERG NILMRS SG 10395 (M4x6)

I

X

J

I1=)C-HIVAR—RI49IR SG 11156 &I 5wk

SG 2521:

WEEBT INILIRT SG 10492 (M4x8)

Smart Fix / AN—hkJ4vJZ X mm

SG 11200/ SG 11210 80 - 84
SG 11201 /SG 11211 100- 104
SG 11202 / SG 11212 120 - 124
SG 11203 /SG 11213 140 - 144
SG 11204 / SG 11214 170 - 174
SG 11156 214 - 242

% P Z
LR (||
& 16
R
SG 2521 SG 10395 SG 10492 SG 11200
XAFTSovh +F AR IS M4x6 +F AR BRS M4x8 AX—RIJ4wI2tyh 60 mn

F e N P /\
A M R AN
o X] e X S v O ~
16
SG 11201 SG 11202 SG 11203 SG 11204

AN—=hJ1wI 2y 80 mm

AN—=RJ1wIXtyk 100

AX—KNI1wIAtzyh 120

AN—=RJ1wHZtyhk 150

PN AN oS Pt
2 2, 100 [Sx X,
ZQ < Y & Sy 120 N
> 29 < 29 [ % 29
oy ~ S <
Y oS o *16/{
SG 11210 SG 11211 SG 11212 SG 11213

ADIT AR —RI1wI Aty b
60 mm

AILT AR —hI4wI Xty b
80 mm

%SilentGliss

AIITF AR —RI1wI Xty b
100 mm

AILT AR —hI1wI Rty b
120 mm

22



/\
>3
ﬂ  ET
29 / \6'2
Ne< N
<
SG 11214 SG 11156
ADIFAI—bI49IRyh  AZN—HILAI—RIT1vIZ
150 mm tyhk 200 mm
735459k SG 2363 7;
< 85 |

SG 2363
AZ)N=H)LT54y bk 68 mn

SYSTEM OPTIONS / A7 AT 3>

A. FABRIC MAKE- ZIAVCRESBBIRE OV T AR 21— RRHA
uP/ "7 CHEEBIZE L)
—= (TU=>R514 2w =T 2RI OV =2 251 A=
27TWID 2540 ANTFZZ51 ). etc]
T EWSE

ML
23 ~& SilentGliss SG 2350



B. WASHING AND
REPLACEMENT /

JI-ZSJERITE
z

>1—-ROSUTFEEDT TS

MOTOR & CONTROLS /
45— & 1>h1-I

A. MOTOR
FEATURES /
E-9-OIFEK

B. MOTOR
SPECIFICATIONS

[ E-5—{ER

SG 2350

20-Series
Motor / E—4—

SG10521
Motor Features / E—4—D4FEl
Soft stop / YITRX Ry HERE (]
Electronic end-stop/ SEENR hd
Electronic revolution counter (unlimited revolution) / BIERTUIY M4 — °
Two intermediate positions possible / 2EFROP RIS I B EN AT EE o
Noiseless stop / BREELEHRE (]
Disconnectable motor cable / EXDIMUBIBERE—SF—4—T )L ®
IP class / IP 75& IP 44
Control Features / HlIHID4FE
Mains power control / EERH1H
Suitable for most major home automation systems (with suitable interface) / —REEYRR— LA — MA—2 3l L2 N ] BE
Motor / E=4— RAEE gIVhE  ACEBE B [ HE
20-Series
SG 10521 15kg 60 cm 120 VAC 0.55A 50 Hz 30 rpm

%SilentGliss 24



C. OPERATING

METHODS /

BIESE

EBEERYF

JED> I

D. WIRING

DIAGRAMS /

Boi#RE

25

¥ L(ESilent GlissICBREIVLWVEDHEEZ0,

)

® 000
(eeJe)

%SilentGliss

32T MSEEEIERYF (LI TEBIS BB TEN TEE
g_o

R4 BRVEIDHEOFI AN EIEETT

FEARRIDFECDOVTIE HHABBOVEDELZE,

SG 2350



PARTS / &bamn

A. STANDARD PARTS/ #=XEEB B. OPTIONAL PARTS / ATJ> 3> EBGn

SG 2216 SG 2004 SG 11156

J-R 2 0.85 mm NNVAVASS IAZN=HIAX =R I4wI Aty
200 mm

SG 2221 SG 2093 é*' SG 11200

~)roF—7 > = AN=NT1wIZAyh 60 mn

SG 2382 SG 2135 » SG 11201

FrAIRE-TJFT(AF=)LOYE g - AN—=hI4wI Xty 80 mm
3 mm
N

SG 2521 SG 2136 - SG 11202

XFFT vk FrAIRE-J740vRT—T . AN—=bJ1wI Xy 100 mm

SG 3055 SG 2164 . SG 11203

TSv ATV o577 % AN—=NI4wH Xy 120 mm

SG 3605 SG 2363 SG 11204

IVRHIN= I=N=HYILTSvh 68 mn AN—=NJ1wI Xy 150 mm

SG 10139 SG 2539 SG 11210

+H3%2 2.9x6.5 -7 ADIT AN —RI4wIXyh 60
mm

SG 10284 SG 3003 SG 11211

o 327 ADIT AN —bI1wI Ry 80
mm

SG 11324 SG 3069 SG 11212

+P35RT PT KA35x14 FrAILRE=T71 7ALyb AIIFAI—bT4vIAtzyb 100

mm

SG 3161 . SG 11213
FrAbRE—T54 PALNEIR / Y DIFAR-IIrwhAEYh 120
< mm
SG 3164 oSG 11214
>
FrALRE—T74 J9oEk / ADTF AR~ NIH9IREYR 150
< mm
SG 3165

FrAIVRE-TJ71 74Lybyh

SG 10395
+FRNILIRD M4x6

SG 10492
+FNRIVIRS M4x8

ML
SG 2350 ~& SilentGliss 26



%SilentGliss



The Architects of Silence

Silent Gliss is the leading global supplier of premium
interior window treatments. Since 1952 we have
been tirelessly committed to the development of the
world's smoothest, quietest systems using state of
the art technology.

Driven by customer needs, Silent Gliss offers
functional and durable products. Expert technical
advice coupled with installation and support services
complete the offer. Silent Gliss stands for
innovative, sustainable, tailor made solutions,
exceptional design and first-class quality.

Silent Gliss Corporation

4F Sanko Bldg.

9-9 Yotsuyasakamachi,
Shinjuku-ku

160-0002 Tokyo

Japan

T Tokyo 03 3350 4809

T Osaka 06 6626 2810
salestokyo@silentgliss.co.jp
salesosaka@silentgliss.co.jp

silentgliss.co.jp



	 Roman BlindSystems
	 General Notes / 一般的な注意事項 
	Application Chart

	SG 2120
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールの情報
	SG 2211
	SG 2004
	SG 2111
	SG 2135


	 How to Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	ブラケット - SG 3603
	SG 3603


	 Wall fitting / 正面壁設置 
	ユニバーサルブラケット - SG 3655, SG 3660
	SG 3655
	SG 3660

	スマートフィックス (補助金具)
	SG 3603
	SG 10277
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Fabric make-up / ファブリックの スタイル仕上げ方法 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2320
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールの情報
	SG 2321
	SG 8214
	SG 2004
	SG 2135


	 How to Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling ﬁtting / 天井設置 
	ブラケット SG 2616
	SG 2616


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 2616
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156

	ブラケット SG 2343
	SG 2343



	 System Options / システムオプション 
	 Fabric make-up / ファブリックの スタイル仕上げ方法 
	 Washing and replacement / クリーニングと掛け替え 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2350
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールの情報
	SG 2351
	SG 2352
	SG 2004
	SG 2135


	 How to Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling ﬁtting / 天井設置 
	クランプ SG 3003
	SG 3003

	ブラケット SG 2521
	SG 2521


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 2521
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156

	ブラケット SG 2363
	SG 2363



	 System Options / システムオプション 
	 Fabric make-up / ファブリックの スタイル仕上げ方法 
	 Washing and replacement / クリーニングと掛け替え 

	 Motor & Controls / モーター & コントロール 
	 Motor Features / モーターの特徴 
	 Motor Specifications / モーター仕様 
	 Operating Methods / 操作方法 
	壁固定スイッチ
	リモコン制御

	 Wiring Diagrams / 配線図 

	 Parts / 部品 
	 Standard Parts/ 標準部品 
	 Optional Parts / オプション部品 
	The Architects of Silence




